



Name: _____

Date: _____ Score: _____

$$(4, 3 + \frac{1}{3}) \times 4 + 2, 6 =$$

$$3, 4 + 2(\frac{1}{6} + 5, 3) =$$

$$(4, 3 + 5, 5) \times 5 + \frac{1}{5} =$$

$$5, 5 \times 20 \div 4 + 5(\frac{3}{4} - \frac{3}{5}) =$$

$$\frac{1}{2} \times 6 \div 3 + 5(\frac{1}{2} - \frac{1}{3}) =$$

$$\frac{1}{3} + 3(\frac{2}{3} + 2, 2) =$$

$$(\frac{1}{5} + 5, 3) \times 5 - \frac{2}{3} =$$

$$\frac{1}{6} + 4(5 + 5, 4) =$$

$$(\frac{3}{5} - 5, 1) \times 3 - \frac{1}{3} =$$

$$(4, 9 + 2, 6) \times 4 + 2 =$$



Name: _____

Date: _____ Score: _____

$$(4, 3 + \frac{1}{3}) \times 4 + 2, 6 = \frac{317}{15} = 21\frac{2}{15}$$

$$3, 4 + 2(\frac{1}{6} + 5, 3) = \frac{43}{3} = 14\frac{1}{3}$$

$$(4, 3 + 5, 5) \times 5 + \frac{1}{5} = \frac{246}{5} = 49\frac{1}{5}$$

$$5, 5 \times 20 \div 4 + 5(\frac{3}{4} - \frac{3}{5}) = \frac{113}{4} = 28\frac{1}{4}$$

$$\frac{1}{2} \times 6 \div 3 + 5(\frac{1}{2} - \frac{1}{3}) = \frac{11}{6} = 1\frac{5}{6}$$

$$\frac{1}{3} + 3(\frac{2}{3} + 2, 2) = \frac{134}{15} = 8\frac{14}{15}$$

$$(\frac{1}{5} + 5, 3) \times 5 - \frac{2}{3} = \frac{161}{6} = 26\frac{5}{6}$$

$$\frac{1}{6} + 4(5 + 5, 4) = \frac{1253}{30} = 41\frac{23}{30}$$

$$(\frac{3}{5} - 5, 1) \times 3 - \frac{1}{3} = (-\frac{83}{6}) = (-13\frac{5}{6})$$

$$(4, 9 + 2, 6) \times 4 + 2 = 32$$